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Use the information from the resource booklet and the boxes in this booklet, in addition to your
business knowledge, to complete this task.

Kete Kai started in Auckland in 2011 with a simple idea - to supply a low-cost food box
of natural ingredients and recipes for households, to allow them to home-cook and
share great family meals.

The business founders placed a real focus on social sustainability, for their customers
and for their employees. They worked hard to maintain good relationships.

Sales grew rapidly in the years up to 2016.

TASK

(a) Using Resources A and B, fully explain TWO possible causes of Kete Kai's rapid sales
growth to 2016.
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In 2016, Kete Kai made the decision to apply the same business ey, —— [ | usEon

Australia. Investor interest was high, and Kete Kai raised sufficient capital to fund cash

flow for the Sydney growth strategy.

Using Resources C and D, fully explain TWO possible effects on Kete Kai of its decision to

expand into Sydney.
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Kete Kai's first premises in Sydney were hired on a short-term basis. Once initial HEE oY

expansion problems had been overcome, Kete Kai decided it would need to purchase a

larger Australian warehouse location to operate from in the long term. It looked at two
possible solutions.

(c) Using Resource E, evaluate BOTH possible solutions.
In your answer:

. fully explain ONE positive effect that EACH solution would have on the business
. state the solution you recommend

. justify your recommendation by explaining why it would be a better solution for Kete Kai
than the other option.
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Kete Kai's next step was to purchase a large-scale refrigeration unit, to be installed at the
new location to keep meats, fruits, and vegetables fresh. The production manager has
researched many models and has suggested two possible solutions to choose from.

(d) Using Resource F, evaluate BOTH possible solutions.
In your answer:
. fully explain ONE positive effect that EACH solution would have on the business
s state the solution you recommend

. justify your recommendation by explaining why it would be a better solution for Kete Kai
than the other solution.
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Write the question number(s) if applicable.
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Grade
score
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Annotation

Part (a)

The candidate has explained two causes of rapid sales growth (many
candidates simply stated the causes using information from the resources).
This candidate has explained the causes, by providing examples, with
reasons for increased customer satisfaction and the impact of falling
unemployment.

Part (b)

The candidate has explained two effects on the business of its expansion.
Firstly, the impact of not being able to source key ingredients, and secondly,
the effect of the language barrier. The second cause was given a weak
explanation, as little evidence was provided for the impact on the actual
business in Australia.

Part (c)

The candidate has explained the effect of both solutions. However, there is
not enough detail regarding the effect on the business, so this is not a Fully
Explained answer. The recommendation does provide some additional
information, and could have contributed to a higher grade if the candidate’s
responses to other parts of the task had included more detailed
explanations.

Part (d)

The candidate has provided weak explanations for each solution. The
recommendation provides additional explanations. As a result, this answer
can be evaluated holistically as a sound response.

Overall, this candidate’s response to the task is at Achievement level.
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